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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
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ELECTIVE COURSE : COMMERCE
ECO-11 : ELEMENTS OF INCOME TAX

Time : 2 hours Maximum Marks : 50

Note : Question no. 1 is compulsory and attempt any three
questions from the remaining questions.

1.  Mr. Anil Kumar is employed in a government 14
college. He receives salary of Rs. 40,000 per
month, Dearness Allowance 20% of salary.
House Rent Allowance Rs. 8,000 per month.
Employer also paid his telephone bill of Rs. 6,000.
He paid house rent Rs. 10,000 per month. He
was provided a car with an engine capacity of
1600 cc for his office use. He also gets facility of a
servant who has been appointed by Anil himself.
The servant’s salary is Rs. 2,000 per month which
is paid by the employer.

Compute his taxable income from salary for the
assessment year 2011-12.
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2. (a) Explain the term ‘capital asset’ and specify 6, 6
the assets that are not included in it.
(b)  Explain the tax rules for valuation of rent
free unfurnished residential house provided
by the employer for inclusion in the salary
income of the employee concerned.

3. Explain as to how the tax liability of an assessee 12
is determined with reference to his residence.

4, Shri Ram Lal owns a house, half of which is let
out for residential purposes on rent of Rs. 16,000
per month. Other particulars of the whole house

are as follows :

Rs.
(i)  Municipal valuation 3,75,000
(ii) Standard Rent 4,50,000
(iii) Municipal Taxes paid 60,000
(iv) Repairs 15,000
(v) Interest on amount 28,000

borrowed for repairs
Compute his taxable income from house property 12
for the assessment year 2011-12 assuming that the
remaining half of the house is used for his own
residence.

5. State the rules regarding taxation of 6, 6

(a) Dividends
(b)  Tax free commercial securities
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6.  Write short notes on any two of the following: 6, 6

7 (@)
(b)
ECO-11

Set off and carry forward of capital losses.

Deduction in respect of Life Ins. Premium,
provident fund, etc. under Sec. 80 C

Best Judgement Assessment under Sec. 144

Tax free perquisites.

Define ‘agriculture income’ and state its 8, 4
kind.

Compute Shri Ramesh Chandra’s gross
total income, who is a non resident, from

the following data :

Rs.

(i) Income from agriculturein 30,000
Pakistan

(i) Salary received in India but 12,000
services rendered in Iraq

(ili) Income from business 12,000
carried on in India

(iv) Interest on bank depositsin 6,000
Sri Lanka credited to his
bank a/c there itself
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1. ot sfe TR TF T Hios H FRiE g1 S8 14
40,000 %. 9fd T a4, 20% WS Wil 91 8,000 .
wia wr@ g e s faeran €1 FEER 36,000 %.
39 & TeeA faat &1 off ad feant 39 & A
w1 Tt 10,000 %. 9fd A B 1 3@ FMTEE & TN
F ol 1600 cc 1 T &R off el g3 81 36 &
Fax +! glaen o wra § 59 1 3 = g
foran o ® | et 1 I 2,000 %. gfd w7 § o
S UGIERERICSIFARRE R ECICI S
e-fagior 9 2011-12 % fore 38 &+ I S
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2. (a) ‘UG WU’ @1 AIURON Hi ATEA Fify 6, 6

a1 37 Hafadl 1 Seor@ Hifee fNE 59 A
NIECIEHRERIISIEI

(by Tt q=d srgEisa Ham wom, st e
g1 fom T §, % Adq # wiha w0 & forg
e Hedl s 1l 1 sare S|

3. A FHIAY ®I T& FHIEA FT HT e I H
f1arg WM & oMuR R fog yor fuifa fean s
gl

4. A TH @ Uw THM 6 9w § e s faem
3G 16,000 %. & A1 frum W fear gan €1 su

W Hefed o faane fr=fafaa €
2.
(i) TR Yot 3,75,000
(i) HeR T 4,50,000
(i) TrOTfereRT T e 60,000
(iv) TOHd =3 15,000
(v) WA & fau sur ot 28,000
TE e R =

g A B foF HEM HT AW e qE 9@ X W
feme o faw 3wam faan, se-fefor o 2011-12 %
fIq 39t 7o Hufa ¥ g8 H-ang 3 #1 T
SHITT |
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5. fr=fafEa & wuuam dest femi =1 Seoa Fifse: 6, 6
@) fefags
(b) FF AMRE gfayfaat

6. Trfafea d 4 fasl gt w wfm fewforat fafaw: 6, 6
(a) YsitTa gifEt i gfd e e o S
(b)  Sited st Wifeem, afesy fify, enfe wee) am
80 C % ofdifd wardl |
(c) W fofa we-frufor g 144

(d) HTHH AITH (perquisites)

7. (a) T T FI uRkmn SIS 9 39 UiE yER 8, 4
1 IeT@ HiT |
(b) St W@w g, 5 R v R-Framh §, o fefafea
foreror @ Wehel Fd I FT TUAT HIFSW |

w.

()  fpem & erffa sfwsg 30,000

(i) 3T H w7 Faweli & g 12,000
IRA § W A

(iil) o F fopy oW o e 12,000
U E o

(V) dicferr & S s 6,000
AT = Sl W3T &
I @it 1 wfee fHan me

ECO-11 7



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

